
Вариативная часть 

1. Use the perfect infinitive of the verbs in brackets with a suitable auxiliary 

verb. 

- How did Peter get here? 

- He  (1) (come) ________________________ on a motorcycle. 

- He (2) (not come) ___________________ on a motorcycle. He doesn’t ride one. 

- He (3) (come) __________________________ as a pillion passenger. 

 

2. Choose the correct answer: 

Filch ____(4) them down to Professor McGonagall's study on the first floor, 

where they sat and waited without ____(5) a word to each other. Hermione was 

trembling. Excuses, alibis, and wild cover-up stories ____(6) each other around 

Harry's brain, each more feeble than the last. He couldn't see how they were going 

to ____ (7) of  trouble this time. They were cornered. How could they have been so 

stupid as to forget the cloak? There was no reason on earth that Professor 

McGonagall would ____(8) for their being out of bed and ___(9) around the school 

in the dead of night, let alone being up the tallest astronomy tower, which was out-

of-bounds except for classes. Add Norbert and the invisibility cloak, and they 

might as well be ____(10) their bags already. 

                          (from “Harry Potter and the Philosopher’s Stone” by J.K.Rowling) 

4) A. gave               B.had                C.took             D.carried 

5) A. speaking        B.telling            C.saying          D.writing 

6) A. chased           B.chose             C.came            D.went 

7) A. be afraid       B.get out            C.run away     D.escape 

8) A. except           B. accept           C.take              D.expect 

9) A. keeping         B.screaming      C.sleeping       D.creeping 

10) A.packing         B.packed            C.package       D.pack 

3. Put in articles and prepositions where necessary to complete the passage: 

What a bad night's sleep really does to your body 

Dr. Sara Gottfried is, (11)_____ her own words, (12)_____ “under sleeper”. 

In our over-caffeinated, over-worked and gadget-addicted society, she’s far 



(13)_____ alone: researchers from Oxford, Cambridge, Harvard, Manchester and 

Surrey universities have found people are sleeping almost two fewer hours 

(14)_____ night than they were (15)_____ the 1960s – and our health is 

deteriorating as (16)_____ result.    

4. Open the brackets to complete the text. 

The Parrot Café  (17) (open) ______________  two years ago, in a large 

building which (18) (be) ____________a factory before. Much work  (19) (do)  

____________before the café  (20) (get) _______________its incomparable 

modern image. Only two years  (21) (pass) _______________ since the café (22) 

(start) _________________ working but it already (23) (become) 

______________ one of the most popular cafes in town. 

Peter  (24) (work) ___________ here for the last three months now and he 

really (25) (love) ______________ the atmosphere. At the moment he  (26) 

(experiment) _______________ with new recipes, because his boss (27) (want) 

______________ to attract still more new customers. He expects that by next week 

he  (28) (make) _______________a recipe for Exotic Fruit Delight which he hopes  

(29) (notice) _______________ by all the customers. 

 

5.  Choose the correct answer: 

30. The teams went on playing rugby … heavy rain. 

a. in spite b. although     c. despite        d. because 

31. … young people today find it hard to get a well-paid job 

a. A number of b. The number of   c. Much d. A number 

32 …  fathers are often asked to come to the school because of their … ill 

behaviour. 

a. Tom and Jack’s … sons’ 

b. Tom and Jack’s … sons’s 

c. Tom’s and Jack’s … sons’ 

d. Toms’ and Jacks’ …  son’s 

33. I’d rather you … yesterday. 

a. don’t come   b. not to come c. didn’t come d. hadn’t come 

34. Never say sorry … you don’t feel that way. 

a. if  b. in case  c. until  d. despite 

35. I have been learning Spanish for two years … to make my life in Mexico 

easier. 

a. though  b. so as  c. so that d. that’s why 

36. Paul couldn’t even imagine how that … boy managed to swim across the 

river. 



a. six years old   b. six-year-old    

c. sixth years old  d. six-year-olds 

 

37. Генеральная цель обучения иностранным языкам не включает: 

А. формирование учащихся как субъектов межкультурной коммуникации; 

Б. овладение учащимися иноязычной коммуникативной компетенцией; 

В. развитие качеств поликультурной личности; 

Г. воспитание морально ответственной личности 

 

38. Объектом итоговой  аттестации учащихся  по учебному предмету 

«Иностранный язык» является: 

А. коммуникативная компетенция; 

Б. учебная программа; 

В. образовательный стандарт; 

Г. владение устной речью. 

 

39. При выполнении тренировочных работ языкового характера письмо 

выступает в качестве: 

А. средства; 

Б. объекта контроля; 

В. цели. 

 

40. Какие формы работы способствуют увеличению времени общения на 

уроке? 

А. индивидуальная; 

Б. фронтальная; 

В. парная; 

Г. групповая 

 

Цена одной сложности языковых заданий (пункты 1-36) составляет 

0,5 балла. 

Цена каждого правильного ответа предметной нормативной базы и 

методики преподавания (пункты 37-40) равна одному баллу. 

Итого, максимальное количество баллов за вариативную часть - 22 

 

 


